WaEwEhEER >

iR

) wm | WEER mamm BERB [P
BAF | GCr15 SUJ2
_BAF...-SUS | #x/fE8Y 6 GB/T 307.1 64 | ZZ(WE k4 | 2Cr13 SUS420

BAF07...-SUS 0Cr18Ni9 | SUS304
B n 2HE

O FRERH. =

O BEAME R/ B iE/ERETEATSUS304fNSUS4205 R, MRl S—0m
s ool | EEEEREN s F'%er E50) B alolg| r [PAEEREN g di?%édRﬂ“r =80
Rig |wEES (min)| Cr(&1)| Cor) om(E%) | miny | maa (max)| (B2) REE  [wEES (min)| Cr&A)| Cor)| om(E%) | min | (ma| (mav)| B%)
68222 512.3/0.08] 80| 5174000] 2.8 | 4.2 [0.08 0.13 68222 512.3]0.08] 143] 40{85000] 2.7 | 3.9 [0.08] 0.17
6922z|2 | 63 8967000 48 0.31 69222 |2 [ 6/3 281] 79]75000 3 | 4.8 0.38
60222 713.5]° %] 199 32562000] > [ 5.8 |* "% 0.54 60222 713.515 328 102/60000] 3.2 | 5.8 | '° 0.58
682A2z|, .| 6]2.6[0.08] 80| 73[65000] 3.1] 4.8 [0.08] 0.22 68242z | , | "6]2.6[0.08| 178 56[71000] 3.7 | 4.9 [0.08[ 0.29
692A2Z|“°| 7[3.5/0.15] 150] 96/59000] 3.7 | 5.8 |0.15| 0.43 69242z || 73.5/0.15| 328 102[63000] 3.85 5.650.15 0.55
67322 6]2.5/0.08] 80| 94/60000] 3.6 | 5.4 |0.08 0.2 67322 6/2.5/0.08 242 94[71000] 3.6 | 5.4 [0.08] 0.2
68322 703 [0.1 | 100] 13058000 3.9 | 5.6 0.1 | 0.33 68322" 73 0.1 | 390] 130[63000] 3.9 | 5.8 [0.1 | 0.45
693z2z|, [8[4 18054000 6.8 0.61 69322° 8la 560 18060000 6.8 0.61
60322 9]5 [0.15| 150] 219/50000] 4.2 [ 7.8 |0.15 0.92 60322* 95 |0.15 571] 189[56000] 4.2 [ 7.8 [0.15] 1.13
6232z| [10]4 224]50000 8.8 16 62322°| [10]4 640| 224]50000 8.8 1.6
6332z [13]5 (0.2 1301 488[40000] , |14 (0.2 | 5.43 63322 13[5_[0.2 [1501 488/40000| , ~111.4 (02 | 3.43
67422 712.5(0.08] 222] 88[60000| *° [6.4 [0.08] 0.28 67422 712.5[0.08] 222 88[60000| *° [ 6.4 [0.08] 0.28
6sazz| | ol | I [224[49000]5 |78 (0.1 [ 0.76 ssazz| [ o] | 1640 224[53000] 6 | 7.8 (0.1 | 1.01
eoazz|, [T1la > 276]45000] 5.2 | 9.8 [0.15] 2 soazz"| , [A1]4 | [ 715[ 276[ o 152 0.8 ]0.15] 1.8
soazz|* [12] [T 360[43000] 1104 [0, | 2.3 soazz’|* [12] [T 957] 350 g 1041, | 234
62azz| [A3[. | 490[42000 °° [114 |7 [35 6202z [13]. | "2 [1310] 490[40000] > [11.4 "% [3.2
6342z| |16 [0.3 | 300 68037000 6 |14 |0.3 | 5.1 63422 16]° [0.3 |1340] 523|36000] 6 [14 0.3 | 5.44
67522 8]2.5(0.08] 80| 91/49000] 5.6 | 7.4 |0.08| 0.32 67522 8(2.5(0.1 | 218] 13153000 5.8 | 7.4 [0.1 | 0.34
6852z| | 11]5 [0.15] 150 28243000 6.2 | 9.8 [0.15] 1.1 68522°| | 11]5 |0.15] 715 282/45000] 6.2 | 9.8 1.96
6952z|, [13]4 430[40000 1.4 2.4 69522°|, [13]4 1080|_430]43000 11402 [ 24
soszz|° [1a], |°% | 2% 505300001 % [12.41%% 35~ o oo [eoszz|® [14], |> [1330 505/40000] *° f12.4 35
BAF [ e25zz| [16]° [, Te80fs7000(, [1a [ (48 " [esz| [16]° [ 7[1760] 680[36000 , [14_ [, [ 4.8
6352z| [19]6 | 885/34000 17 °° 8 =0 T635727|  [19]6 | [2336] 89632000 17 |°° | 8.89
6762Z| | 10|3_|0.1 | 496] 218|45000] 7.04 9.3 [0.1 | 0.7 67622 10[3_[0.1 | 496 218/45000] 7.04/ 9.3 [0.1 | 0.7
6862z [13] . 10.15[1080] 440[38000[ 7 [11.8 [, | 1.9 se6zz"|  [13[,[0.16[1080] 440,00 T7 Ti1.8] , | 2.6
6962z|, [15]° [0.2 [1350] 630[37000] 7.6 [13.4 ] [3.8 69622°| . [15]° [0.2 [1350] 530 76 [13.4|°“ [ 38
s06zz|° [17] 2190| 865/38000 15 6 s06zz*|° [17] 2190] 86538000 15 6
6262z [19]° |0.3 [2340] 88534000 8 [17 0.3 [ 8.1 02622| [19]° |0.3 [2340] 885[32000| 8 [17 |0.3 | 8.1
6362z| |22]7 3333/1423]30000 20 14.5 63622°| [22]7 3333[1423]30000| 120 14.5
s87zz|  [14], [0.15[1170] 505[37000] 8.2 [128 0.2 | 2.1 6872z [14], [0.15]1170] 505[40000] 8.2 [12.8 [0.15] 2.97
697zz|, |17 1610| 715/35000 15 5.2 69722°|, [17 1610 71000 15 5.12
607zz|" [19]6 |0.3 [2240] 910[34000] 9 [17 0.3 [8 607zz*|" [19]6 |0.3 [2340] 885 9 [7 |03 [7.51
6212z| [22]7 3350/1400/32000 20 13 62722°|  [22]7 3300[1370[30000] |20 12.9
6782Z| | 12]3.5/0.1 | 543| 274/40000| 8 [11.33]0.1 | 0.99 67822 12[3.5/0.1 | 543 274/40000] 8 [11.330.1 | 0.99
6882z| [16|5 [0.2 |16101400/35000] 9.6 [14.4 0.2 | 3.1 6862z [16]5 [0.2 [1610] 715, T0.6 [14.4 (0.2 | 4.02
6982z|, [19]6 1990] 865/33000 17 7.3 69822°| . [19]6 1990| 865 17 7.3
608zz|° [22[7 | . [3350/1400[32000 20 |, [12 s0szz'|° [22]7 |, [3350[1400[34000], ) R0 |  , [12
6262z| [24]8 |"° [4000[1590[31000]10 |22 |°*° [17 628227 . [24]8 |* [4000[1500] 0 1" 2 |7 [17
6382z| [28]9 4560/1983]28000 26 30.3 63822 289 4560/1983 26 30.3
6892z| |17]5 [0.2 [1720] 820[33000[10.6 [154 [0.2 | 3.2 68922°[ | 17[5_[0.2 [1720] 820/33000[10.6 [15.4 [0.2 | 3.2
699zz| o [20]6 |, [2480[1080|32000] 18 8.2 699z2'| o [20]6 | = ,~[2480[1090[32000] 18 8.2
6092z|° [24]7 |°-° [3400[1450[31000 2 |03 [14 s0ozz’|” [24]7 | [3400[1450[31000]" |, "|0.3 [14
620zz| 268 0.6 |4550/1960/30000]13 20 62922°| _[26]8 [0.6 |4550[1960] 3000013 20
© 1Kgf=9.81N - ( SUS304H RIRERHHIE. @ 1Kgf=9.81N
s a '\ 4
@ N - N 7 EX|cane
82Z i 3::bR)
T 69227 2
BRERIT R 60227
BAF6822Z
@ timmn
#E[1~9 ] 10~ -
& [100% | BFRM *
HREHNGT) O RO FAREESAR L,

R THHERIS@AER.



	页 6

